qunwiubph nbwpnul

Muuwdhpwint << Ynuwph dwpgh‘<Upwidniuh Yy Unwpbywuh wuywt

(puwn pjngbnuihs dwiuubiph gbpwnbuswlw nwuwlwnpgdwl)

Opwghp  <wupwlppwlwl nwnignud

UtiJunud  Uwpwptbiph U dwnwynigniuubiph dknp plipnud

pwdht 09 funwip 02 nwu 01 dpwghp 02

(puwn pinigbnwht dwiuubiph gnpédwnuwlwy nwuwlwpgdw)

Qudwb_wnwnbuih Qudwu 6l |2uihdwu [Uhwdnnh Cunwdbun Luwuwln
Uhguwghly (pupwgw- |dhwynpp |ghtp dwtuubpp
Ynnp pun wwunwip Jwnap) npw
CPV nuuw
Lwpgdwl
wnbinGYwinnth
1 3 4 7
Uwnwuplbp
301976311 (@nmne A4 dnndunnh 1/21*29.7/ PLUL unith 2500 77500 31
30197231|ldne wnhdbp pwnwue PLUL hwwn 10 27930 2793
30197232|lnpwywlwly wpwguljwp PLUL hwtn 100 4500 45
30197233 |lenpwwwuwy phiny PLUL hwuwn 100 3000 30
30197234|(dnpwuwwuwl Ynn Yugdnyg PLUL hwwn 1000 46000 46
30199232 | Opwp dbd A4 dnpdwwn PLUL hwwn 60 600 10
30192121|%phs qunhlwynp PLUL hwuwn 100 7900 79
37821150 | “4wyhd PLUL ba 600 18000 30
30199420|pnine upnidt hwdwp POULC hwwn 300 3000 10
39263200| Spwublywy ghpp PLUL hwwn 1000 10000 10
30193221 4wnhs dhusl 20 pbpph hwdwn PLUL hwwn 1200 12000 10
30197340| Uwwlwnhs PLUL hwwn 250 2000 8
30192710{Unubéwdwinhun gpwubiy PLUL hwtn 350 1750 )
24911200{Unuhué tdnyuhuw PCUL hww 900 900 1
39263310| Opwgnyg ubinwuh PLUL hwwn 900 900 1
36263410 | Udpwly dbunwnw PLUL hwtn 180 900 5
30192137 |Uwwnhwn qpwbhuint dhe. <wu PLUL hww 100 5300 53
30197111 | 4wphsh deinwnwjwpt Yuwwbp PLUL hwwn 100 200 2
30141200 | Cwodwuwnp apwubujwluwihu PLUL hwwn 3000 6000 2
30197331| Ftwlhs pwuntuny PCUL hwuwn 5000 5000 1
30192740|(enine gniuwynn A4 dnndwnh PCUL hwuwn 1500 6000 4
30192100| Ntbwhtu hwuwpwl PCUL hwwn 100 15000 150
30192750] bindwuwnbinubn hwdwpwént PLUL huin 500 5000 10
30192760|Unhs undnnwywu pLUL hwn 150 1200 8
39263600 9pswinnith gpwubujwlwihu PLUL hwwn 700 4200 6
30197637 |(anine Ywadh uindwpuwpnph PLUL hwwn 60 1200 20
30234300 | Twwnwnply ufuywn. PLUL hww 170 5270 31
30192114 (Fwuwp Yuhph pwpdhlh hwd PLUL hww 250 750 3
30292510{Lwunu wywuwnhly PLUL hwwn 350 3500 10
30197635|(dnnp Ywdbws A4 Snpdwwinh PLUL hwn 80 16000 200
30192720 Séwohs PLUL hwwn 250 5000 20
30193600| opwgnygh nwlnhp wjwundwub PLUL hwn 1400 14000 10
30237100 <wdwlwnpash dwubp PLUL nnud 50000 50000
22211000|r3tpphn PLUL wdhu 8100 40500 5
30237140 | Kwdwlwngsh dwjpwlywt uwihy PCUL hwwn 28000 56000 2
30237100\ UupYy <wdwlwngsh PLUL hwwn 3000 15000 5
30237100 |Rwpephoh pUpnly PLUL hwitn 4000 28000 7
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44111413 | Sninuiibinly 20 g hwn 25000 50000 2
44831500] Lnidhg POUL hwin 4000 12000 3
44511260 | <nluipnine hwin 1500 7500 5
44423680 | dw)hl PLUL huin 2300 4600 2
44163173 | Hanhlib funninduly 3.1 PLUL huwin 500 25000 50
39221420 unquitiuly POUC  |hwn 700 2100 3
44112250 Swithph wununwl PLUCL uintth 500 10000 20
39224330 ny; ubitnwnw PRUL huwin 1700 10200 6
39224330 | "ty wwundwub PRUL huwin 900 7200 8
44521100( Pntiwljutin POUL hwin 1200 18000 15
44112560 | Onpwlh Glniu funnniuwl PLUC hwwn 1000 8000 8
39835000 (<wunwly dwppbint &nn wwundwub PoUL htun 1000 5000 3
44411740 [2niguipwbiwlnup PLUL hwtn 32000 64000 2
44423680 (Chuwp. Ly hwpwlhg wwypwup PLUL hwn 23800 23800 1
44163280 unnndwlyughts wuwnwtip RCUL Ly 1000 3000 3
44192600|Uku PLUC g 650 6500 10
44511370 | Suy hynup hwlwp hwiwn 6000 6000 1
44420000 Chuwpwpuwlywy wpluwunwiptibip PLUL npwy 200000 200000 1
22111120 Spwnwpuwith gnphp PLUL npwd 62000 62000
44190000(bnpYywpet funquitiwy thwthntly PCUL hwtn 800 1600 2
19641000 Tnhbihbuwht wuwnl wnph PLUL npwd 10 1000 100
44420000 wgpn wwpwt PLUC g/u 4000 60000 15
30234640 Bty hhznaniginit 16 GB PLUL huwtn 5900 11800 2
30234630 b(b2 hhannnueiniu 8 GB PLUL huin 3600 21600 6
44420000|k) jupng PLUL huin 500 2500 5
39531800 Mthnpub anng PLUL hwn 5000 20000 1
37451580 dnjbypnih qlinwly PLUL hwin 8000 40000 5
37451290 Sninpnih qunuiy PLUL huwin 7000 7000 1
37451000 dnibjpnh gulig PLUL huwin 8000 8000 1
37451000{Uutn qunwlh PLuUC hwin 200 1000 5
37451000{oulh Wwigtniyuwitihg PLUC huwn 1500 3000 2
445000004 biguiuly Pwliw hwywp PLUL hwin 6500 6500 1
44423680 | by jwiwh wuwinpnt PPUL hwin 150 900 6
31531210 by iy PCUL hwn 100 5000 50
44420000 | widwuink uljwywn PCUL hwin 6500 19500 3
44190000 tpyuish funquitiwly snp PLUL hwtn 1200 2400 2
742700
15000000|Utunh duitinng PLUL hwun 586 599478 1023
599478
79132100| Ey.uwnnpugn uwwu Y PLUL hun 3000 6000 2
48441300 Lwpduwuy. hwidwly dpuwg thwebplutp  |POUC npwd 300000
79131100{hpwy, Pwunwpnp. htn Yuww dwn  [PLUC npwd 10000
50311120 Swdwlwpg wwhy Unpng PLUL npwy 100000
50531120 Lwlywhpnbhuwh dwwinizinit PLUL wdhu 60000
92420000| (3t hujin nwwgp dwnwinie POUL huwin 6000 12000 2
45251170| Stijuuhly uwywu olin hwdwy PCULC npwd 60000 60000
66111000 Putijuyht dwnwinigniitibp PLUL npwd 5000 5000
50531140 Hwpuwwnwy thnpéwpliiniemy PLUL npwd 100000
653000
39161100|Upwlitipun. ubinwl buwn Ynduyblyn uu Ynduy 35000 910000 26
65210000 Puwlw qugh puifuznid POUL J? 156 3000000
65310000k tubpghuih pwhuznid PLUL Yus 38 400000
64220000 4wuh Swnuwinip)wl pwfupnud PLUL npwy 15000 300000
65100000{2ph pufuziwl Swnuwjnieniy PCUC & 172 100000
3800000
7205178
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